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QUESTION 1

After you install CA Process Automation r4.1, you want to enable seamless authentication to CA Process Automation
using Windows credentials. To implement this capability, you need to edit the oasisconfig.properties file. Which setting
do you need to configure?

A. isFipsMode=true

B. SSO.enabled=true

C. ntim.enabled=true

D. siteminder.ntim.enabled=true

Correct Answer: C

QUESTION 2

The mail server for email notifications can be configured for all operators and processes by:
A. Setting the hostname variable.

B. Setting the outgoing mail server in Outlook.

C. Defining an SMTPServer variable within your process.

D. Modifying the SMTP Server for Outgoing e-mail setting in the Email module for the domain.

Correct Answer: D

QUESTION 3

Because a host in your environment contains social security numbers, you need to restrict access to a small high-
privilege group. You have been asked to investigate and implement the touchpoint security feature of CA Process
Automation. To help ensure a successful touchpoint security implementation, which factor do you need to consider?
A. Itis an orchestrator-level property that can be enforced at the orchestrator level only.

B. The default inherited enforcement ensures non-secure processes only run if you disable touch point security.

C. Even if you enforce it, it will not function unless you also configure a CA Embedded Entitlements Manager (CA EEM)
policy.

D. For touch point security policies, best practice is to directly name the operators that act on touchpoints you want to
secure.

Correct Answer: C

QUESTION 4
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The process you are designing requires parameters to be passed to a child process. You will therefore need to edit the
data initialization code of the Start Process operator. To pass the parameters to the child process, which syntax should
you use?

A. Process.x = Caller.x;

B. Caller.x = Process.x;

C. Process.x == Caller.x;

D. Process. x = Process. v,

Correct Answer: A

QUESTION 5

You use the Monitor Event operator to:

A. Configure a process to wait for an SNMP trap event.

B. Publish an event to an orchestrator before continuing down a path of execution.

C. Configure a process to wait for one or more events published to an orchestrator before continuing down a path of
execution.

D. Configure a process to wait for one or more events published to an external application before continuing down a
path of execution.

Correct Answer: C
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